






Six persons- L, M, N, O, P, and Q are living in 
the six story building. The lowermost floor is 
numbered as one and the topmost floor is 
numbered as six. They are having different 
breeds of dogs- Bulldog, Pointer, Samoyed, 
Sarabi, Sheltie, and Poodle but not necessarily 
in the same order. N has Pointer who lives two 
floors above the one who has Sarabi. The one 
who has Sarabi does not live on an even 
number floor. Q lives two floors above the one 
who lives three floors below M. The one who 
has Sheltie is living two floors below M. L lives 
adjacent floor of N. Neither M nor Q has 
Samoyed. The one who has Samoyed is living 
above the one who has Sarabi but not lives on 
the topmost floor. P has neither Sheltie nor 
Samoyed. The number of people who live 
between O and the one who has Bulldog is the 
same as between L and O.



छह व्यक्ति- L, M, N, O, P, और Q छह मंक्तिला इमारत 
में रह रह ेहैं। सबसे क्तिचली मंक्तिल की संख्या एक ह ैऔर 
सबसे ऊपरी मंक्तिल की संख्या छह ह।ै उिके पास अलग-
अलग िस्ल के कुत्ते हैं- बुलडॉग, पॉइंटर, सामोयड, साराबी, 
शेल्टी और पूडल लेककि िरूरी िहीं कक इसी क्रम में ह।। N 
के पास पॉइंटर ह ैिो साराबी वाले व्यक्ति से दो मंक्तिल ऊपर 
रहता ह।ै क्तिसके पास साराबी ह ैवह सम संख्या वाली 
मंक्तिल पर िहीं रहता ह।ै Q उस व्यक्ति से दो मंक्तिल ऊपर 
रहता ह ैिो M से तीि मंक्तिल िीचे रहता ह।ै क्तिसके पास 
शेल्टी ह ैवह M से दो मंक्तिल िीचे रहता ह।ै वह व्यक्ति 
क्तिसके पास सामोयड ह ैवह उस व्यक्ति के ऊपर रहता ह ै
क्तिसके पास साराबी ह ैलेककि वह सबसे ऊपरी मंक्तिल पर 
िहीं रहता ह।ै P के पास ि तो शेल्टी ह ैऔर ि ही समोयड। 
O और क्तिसके पास बुलडॉग ह ैउसके बीच रहिे वाले लोग। 
की संख्या L और O के बीच रहिे वाले लोग। की संख्या के 
समाि ह।ै



N has Pointer who lives two floors above the 
one who has Sarabi. The one who has Sarabi
does not live on an even number floor. Q lives 
two floors above the one who lives three floors 
below M. The one who has Sheltie is living two 
floors below M. L lives adjacent floor of N. 
Neither M nor Q has Samoyed. The one who 
has Samoyed is living above the one who has 
Sarabi but not lives on the topmost floor. P has 
neither Sheltie nor Samoyed. The number of 
people who live between O and the one who 
has Bulldog is the same as between L and O.

Which of the following combination is true?
A. Q-Bulldog
B. O-Pointer
C. P-Sarabi
D. N-Poodle
E. M-Samoyed



N has Pointer who lives two floors above the one who 
has Sarabi. The one who has Sarabi does not live on 
an even number floor. Q lives two floors above the one 
who lives three floors below M. The one who has 
Sheltie is living two floors below M. L lives adjacent 
floor of N. Neither M nor Q has Samoyed. The one who 
has Samoyed is living above the one who has Sarabi
but not lives on the topmost floor. P has neither Sheltie 
nor Samoyed. The number of people who live between 
O and the one who has Bulldog is the same as 
between L and O.

Which of the following statement is/are true with respect 
to L?
I. L and N are living on the odd number floor.
II. Two floors are between M and L.
III. L has Samoyed
A. Only I and III
B. Only III
C. Only I and II
D. Only II
E. None of these



N has Pointer who lives two floors above the one who 
has Sarabi. The one who has Sarabi does not live on 
an even number floor. Q lives two floors above the one 
who lives three floors below M. The one who has 
Sheltie is living two floors below M. L lives adjacent 
floor of N. Neither M nor Q has Samoyed. The one who 
has Samoyed is living above the one who has Sarabi
but not lives on the topmost floor. P has neither Sheltie 
nor Samoyed. The number of people who live between 
O and the one who has Bulldog is the same as 
between L and O.

On which of the following floor does Q live?

A. 3
B. 6
C. 5 
D.2
E.4



N has Pointer who lives two floors above the one who 
has Sarabi. The one who has Sarabi does not live on 
an even number floor. Q lives two floors above the one 
who lives three floors below M. The one who has 
Sheltie is living two floors below M. L lives adjacent 
floor of N. Neither M nor Q has Samoyed. The one who 
has Samoyed is living above the one who has Sarabi
but not lives on the topmost floor. P has neither Sheltie 
nor Samoyed. The number of people who live between 
O and the one who has Bulldog is the same as 
between L and O.

Who among the following person lives on floor number 
four?

A. M
B. The one who has Bulldog
C. The one who has Poodle
D. The one who has Sheltie
E. P



N has Pointer who lives two floors above the one who 
has Sarabi. The one who has Sarabi does not live on 
an even number floor. Q lives two floors above the one 
who lives three floors below M. The one who has 
Sheltie is living two floors below M. L lives adjacent 
floor of N. Neither M nor Q has Samoyed. The one who 
has Samoyed is living above the one who has Sarabi
but not lives on the topmost floor. P has neither Sheltie 
nor Samoyed. The number of people who live between 
O and the one who has Bulldog is the same as 
between L and O.

Four of the following five are alike in a certain way. 
Who among the following one does not belong to the 
group?

A. M
B. The one who has Bulldog
C. O
D. The one who has Samoyed
E. P



Arjun, Brij, Charu, Diljit, Gautam and Fardeen
are six friends having their birthdays on same 
date of different month viz. January, February, 
March, April, July and November of same year 
i.e. year 1998. They are engaged in different 
professions/services viz. Engineer, Advocate, 
Guard, Consultant, IPS and Director. All the 
above information is not necessarily in the 
same order. Brij is born in the month having 30 
days, but not the youngest. Diljit is older than 
Brij. Gautam is a Director and born in February. 
Fardeen is neither a Engineer nor a IPS. The 
youngest person is a IPS. The difference of age 
between an Director and Arjun is exactly the 
same as between Diljit and a Guard. The one 
who is older to Fardeen but not the oldest is a 
Consultant. Arjun is six months older to the one 
who is Advocate.



अिुुि, क्तिि, चारू, कदलिीत, गौतम और फरदीि छह दोस्त 
हैं क्तििका िन्मकदि अलग-अलग महीिे की एक ही तारीख 
को होता ह।ै एक ही वर्ु अर्ाुत वर्ु 1998 के ििवरी, 
फरवरी, माचु, अप्रैल, िुलाई और िवंबर। वे क्तवक्तिन्न 
व्यवसाय।/सवेाओं में लगे हुए हैं। इंिीक्तियर, वकील, गाडु, 
सलाहकार, आईपीएस और क्तिदशेक। उपरोि सिी 
िािकारी आवश्यक िहीं कक इसी क्रम में ह।। बृि का िन्म 
30 कदि वाले महीिे में हुआ ह,ै लेककि सबसे छोटा िहीं। 
दलिीत उम्र में बृि से बडे हैं। गौतम एक क्तिदेशक हैं और 
उिका िन्म फरवरी में हुआ ह।ै फरदीि ि तो इंिीक्तियर हैं 
और ि ही आईपीएस. सबसे कम उम्र का व्यक्ति आईपीएस 
ह।ै एक डायरेक्टर और अिुुि के बीच उम्र का अंतर क्तबल्कुल 
उतिा ही ह ैक्तितिा कदलिीत और एक गाडु के बीच ह।ै वह 
व्यक्ति िो फरदीि से बडा ह ैलेककि सबसे बडा िहीं ह,ै एक 
सलाहकार ह।ै अिुुि उस व्यक्ति से छह महीिे बडा ह ैिो 
वकील ह।ै



Brij is born in the month having 30 days, but not 
the youngest. Diljit is older than Brij. Gautam is 
a Director and born in February. Fardeen is 
neither a Engineer nor a IPS. The youngest 
person is a IPS. The difference of age between 
an Director and Arjun is exactly the same as 
between Diljit and a Guard. The one who is 
older to Fardeen but not the oldest is a 
Consultant. Arjun is six months older to the one 
who is Advocate.

Whose birthday is exactly between Gautam
and Brij?

a. Fardeen
b. Charu
c. Diljit
d. Arjun
e. None of these



Brij is born in the month having 30 days, but not 
the youngest. Diljit is older than Brij. Gautam is 
a Director and born in February. Fardeen is 
neither a Engineer nor a IPS. The youngest 
person is a IPS. The difference of age between 
an Director and Arjun is exactly the same as 
between Diljit and a Guard. The one who is 
older to Fardeen but not the oldest is a 
Consultant. Arjun is six months older to the one 
who is Advocate.

Persons in which of the following pairs are born 
in the month having 31 days?

a. Arjun – Diljit
b. Charu – Fardeen
c. Brij – Diljit
d. Charu – Gautam
e. None of these



Brij is born in the month having 30 days, but not 
the youngest. Diljit is older than Brij. Gautam is 
a Director and born in February. Fardeen is 
neither a Engineer nor a IPS. The youngest 
person is a IPS. The difference of age between 
an Director and Arjun is exactly the same as 
between Diljit and a Guard. The one who is 
older to Fardeen but not the oldest is a 
Consultant. Arjun is six months older to the one 
who is Advocate.

Four of the following five are alike in a certain 
way and thus form a group. Which one of the 
following does not belong to that group?

a. Diljit – 31 – Guard
b. Brij – 31 – Consultant
c. Charu – 30 – Advocate
d. Gautam – 31 – Consultant
e. Brij – 30 – Guard



Brij is born in the month having 30 days, but not 
the youngest. Diljit is older than Brij. Gautam is 
a Director and born in February. Fardeen is 
neither a Engineer nor a IPS. The youngest 
person is a IPS. The difference of age between 
an Director and Arjun is exactly the same as 
between Diljit and a Guard. The one who is 
older to Fardeen but not the oldest is a 
Consultant. Arjun is six months older to the one 
who is Advocate.

Which one of the following is an Engineer?

a. Diljit
b. Brij
c. Charu
d. Arjun
e. None of these



Brij is born in the month having 30 days, but not 
the youngest. Diljit is older than Brij. Gautam is 
a Director and born in February. Fardeen is 
neither a Engineer nor a IPS. The youngest 
person is a IPS. The difference of age between 
an Director and Arjun is exactly the same as 
between Diljit and a Guard. The one who is 
older to Fardeen but not the oldest is a 
Consultant. Arjun is six months older to the one 
who is Advocate.

Find the profession of Diljit?

a. Consultant
b. Advocate
c. Guard
d. Cannot be determined
e. None of these



Seven persons A , B, C, E, F, G and H are working in a 
company with different grade position such as CEO, 
MD, GM, DGM, Senior Manager, Assistant Manager 
and Clerk. Their positions are given in descending 
order, such as CEO as the highest position and Clerk 
as the lowest position. Consecutive alphabetical name 
of the persons doesn’t hold a consecutive grade 
position. Three persons are hold a position between H 
and E. Number of persons hold a position higher than 
G is twice as that of number of people hold a position 
higher than A. As many persons ranking higher than E 
is same as that of lower than G. C‟s grade position is 
immediately higher than F‟s grade position. The grade 
position of B is higher than G.
सात व्यक्ति A, B, C, E, F, G और H एक कंपिी में सीईओ, एमडी, 
िीएम, डीिीएम, वररष्ठ प्रबंधक, सहायक प्रबंधक और क्लकु िैसे 
क्तवक्तिन्न ग्रेड पद। पर काम कर रह ेहैं। उिके पद अवरोही क्रम में कदए 
गए हैं, िैसे सीईओ सबसे ऊंचा पद और क्लकु सबसे क्तिचला पद। 
व्यक्तिय। का क्रमागत वर्ाुिकु्रक्तमक िाम क्रमागत ग्रेड क्तस्र्क्तत िहीं 
रखता ह।ै H और E के बीच में तीि व्यक्ति हैं। सी की ग्रेड क्तस्र्क्तत एफ 
की ग्रेड क्तस्र्क्तत से तुरंत ऊंची ह।ै B का ग्रेड स्र्ाि G से ऊँचा ह।ै



Seven persons A , B, C, E, F, G and H are working in a 
company with different grade position such as CEO, 
MD, GM, DGM, Senior Manager, Assistant Manager 
and Clerk. Their positions are given in descending 
order, such as CEO as the highest position and Clerk 
as the lowest position. Consecutive alphabetical name 
of the persons doesn’t hold a consecutive grade 
position. Three persons are hold a position between H 
and E. Number of persons hold a position higher than 
G is twice as that of number of people hold a position 
higher than A. As many persons ranking higher than E 
is same as that of lower than G. C‟s grade position is 
immediately higher than F‟s grade position. The grade 
position of B is higher than G.
Which is the correct combination?
a. A – CEO
b. B – Clerk
c. C– MD
d. G- GM
e. None of above



Seven persons A , B, C, E, F, G and H are working in a 
company with different grade position such as CEO, 
MD, GM, DGM, Senior Manager, Assistant Manager 
and Clerk. Their positions are given in descending 
order, such as CEO as the highest position and Clerk 
as the lowest position. Consecutive alphabetical name 
of the persons doesn’t hold a consecutive grade 
position. Three persons are hold a position between H 
and E. Number of persons hold a position higher than 
G is twice as that of number of people hold a position 
higher than A. As many persons ranking higher than E 
is same as that of lower than G. C‟s grade position is 
immediately higher than F‟s grade position. The grade 
position of B is higher than G.
Rank of H from Bottom?
a. first
b. third
c. second
d. fifth
e. None of the above



Seven persons A , B, C, E, F, G and H are working in a 
company with different grade position such as CEO, 
MD, GM, DGM, Senior Manager, Assistant Manager 
and Clerk. Their positions are given in descending 
order, such as CEO as the highest position and Clerk 
as the lowest position. Consecutive alphabetical name 
of the persons doesn’t hold a consecutive grade 
position. Three persons are hold a position between H 
and E. Number of persons hold a position higher than 
G is twice as that of number of people hold a position 
higher than A. As many persons ranking higher than E 
is same as that of lower than G. C‟s grade position is 
immediately higher than F‟s grade position. The grade 
position of B is higher than G.
Which of the following cannot be true?
a. F rank third from top
b. B rank sixth from top
c. C rank second from top
d. G rank fourth from bottom
e. None of the above



Seven persons A , B, C, E, F, G and H are working in a 
company with different grade position such as CEO, 
MD, GM, DGM, Senior Manager, Assistant Manager 
and Clerk. Their positions are given in descending 
order, such as CEO as the highest position and Clerk 
as the lowest position. Consecutive alphabetical name 
of the persons doesn’t hold a consecutive grade 
position. Three persons are hold a position between H 
and E. Number of persons hold a position higher than 
G is twice as that of number of people hold a position 
higher than A. As many persons ranking higher than E 
is same as that of lower than G. C‟s grade position is 
immediately higher than F‟s grade position. The grade 
position of B is higher than G.
Who is Senior Manager?
a. H
b. A
c. G
d. B
e. None of above



Seven persons A , B, C, E, F, G and H are working in a 
company with different grade position such as CEO, 
MD, GM, DGM, Senior Manager, Assistant Manager 
and Clerk. Their positions are given in descending 
order, such as CEO as the highest position and Clerk 
as the lowest position. Consecutive alphabetical name 
of the persons doesn’t hold a consecutive grade 
position. Three persons are hold a position between H 
and E. Number of persons hold a position higher than 
G is twice as that of number of people hold a position 
higher than A. As many persons ranking higher than E 
is same as that of lower than G. C‟s grade position is 
immediately higher than F‟s grade position. The grade 
position of B is higher than G.
Who ranked as MD ?
a. H
b. A
c. G
d. B
e. None of above



Eight persons are working in a Police Department with 
different grade position such as DGP, SSP, SP, DSP, 
SHO, SI, ASI and Constable. Their positions are given 
in descending order, such as DGP as the highest 
position and Constable as the lowest position. 
Brahmdutt is a SI. Two persons are hold a position 
between Ayan Ranjan and Brahmdutt. More than four 
person are hold a position between Chitragupt and 
Heeralal. As many person senior to Chitragupt is same 
as that of junior to Dharambir who is junior to Heeralal. 
Eshwar Singh is junior to Farooq Ali and senior to 
Giriraj. Dharambir is not a SSP.
एक पुक्तलस क्तविाग में आठ व्यक्ति अलग-अलग ग्रेड पद िैसे कक 
डीिीपी, एसएसपी, एसपी, डीएसपी, एसएचओ, एसआई, एएसआई 
और कांस्टेबल के सार् काम कर रह ेहैं। उिके पद अवरोही क्रम में कदए 
गए हैं, िैसे कक डीिीपी सवोच्च पद ह ैऔर कांस्टेबल सबसे क्तिचला पद 
ह।ै िह्मदत्त एसआई हैं। अयाि रंिि और िह्मदत्त के बीच दो व्यक्ति 
स्र्ाि रखते हैं। क्तचत्रगपु्त और हीरालाल के बीच चार से अक्तधक व्यक्ति 
एक स्र्ाि पर बैठे हैं। क्तितिे व्यक्ति क्तचत्रगपु्त से वररष्ठ हैं, उतिे ही 
व्यक्ति धमुबीर से कक्तिष्ठ हैं, िो हीरालाल से कक्तिष्ठ हैं। ईश्वर ससंह 
फारूक अली से िूक्तियर और क्तगररराि से सीक्तियर हैं. धमुबीर 
एसएसपी िहीं हैं.



Eight persons are working in a Police 
Department with different grade position such 
as DGP, SSP, SP, DSP, SHO, SI, ASI and 
Constable. Their positions are given in 
descending order, such as DGP as the highest 
position and Constable as the lowest position. 
Brahmdutt is a SI. Two persons are hold a 
position between Ayan Ranjan and Brahmdutt. 
More than four person are hold a position 
between Chitragupt and Heeralal. As many 
person senior to Chitragupt is same as that of 
junior to Dharambir who is junior to Heeralal. 
Eshwar Singh is junior to Farooq Ali and senior 
to Giriraj. Dharambir is not a SSP.
What is the profession of Ayan Ranjan?
a. SSP
b. SP
c. DSP
d. SI
e. Cannot be determined.



Eight persons are working in a Police 
Department with different grade position such 
as DGP, SSP, SP, DSP, SHO, SI, ASI and 
Constable. Their positions are given in 
descending order, such as DGP as the highest 
position and Constable as the lowest position. 
Brahmdutt is a SI. Two persons are hold a 
position between Ayan Ranjan and Brahmdutt. 
More than four person are hold a position 
between Chitragupt and Heeralal. As many 
person senior to Chitragupt is same as that of 
junior to Dharambir who is junior to Heeralal. 
Eshwar Singh is junior to Farooq Ali and senior 
to Giriraj. Dharambir is not a SSP.
What is the rank of Dharambir from top?
a. Fifth
b. Sixth
c. Seventh
d. Eight
e. Cannot be determined.



Eight persons are working in a Police Department with 
different grade position such as DGP, SSP, SP, DSP, 
SHO, SI, ASI and Constable. Their positions are given 
in descending order, such as DGP as the highest 
position and Constable as the lowest position. 
Brahmdutt is a SI. Two persons are hold a position 
between Ayan Ranjan and Brahmdutt. More than four 
person are hold a position between Chitragupt and 
Heeralal. As many person senior to Chitragupt is same 
as that of junior to Dharambir who is junior to Heeralal. 
Eshwar Singh is junior to Farooq Ali and senior to 
Giriraj. Dharambir is not a SSP.
How many positions are there between Giriraj and 
Heeralal?
a. One
b. Two
c. Three
d. Four
e. Cannot be determined.



Eight persons are working in a Police 
Department with different grade position such 
as DGP, SSP, SP, DSP, SHO, SI, ASI and 
Constable. Their positions are given in 
descending order, such as DGP as the highest 
position and Constable as the lowest position. 
Brahmdutt is a SI. Two persons are hold a 
position between Ayan Ranjan and Brahmdutt. 
More than four person are hold a position 
between Chitragupt and Heeralal. As many 
person senior to Chitragupt is same as that of 
junior to Dharambir who is junior to Heeralal. 
Eshwar Singh is junior to Farooq Ali and senior 
to Giriraj. Dharambir is not a SSP.
Who is ranked as DGP?
a. Ayan Ranjan
b. Brahamdutt
c. Dharambir
d. Chitragupt
e. Farooq Ali



Eight persons are working in a Police 
Department with different grade position such 
as DGP, SSP, SP, DSP, SHO, SI, ASI and 
Constable. Their positions are given in 
descending order, such as DGP as the highest 
position and Constable as the lowest position. 
Brahmdutt is a SI. Two persons are hold a 
position between Ayan Ranjan and Brahmdutt. 
More than four person are hold a position 
between Chitragupt and Heeralal. As many 
person senior to Chitragupt is same as that of 
junior to Dharambir who is junior to Heeralal. 
Eshwar Singh is junior to Farooq Ali and senior 
to Giriraj. Dharambir is not a SSP.
Who is Constable in the Police Department?
a. Ayan Ranjan
b. Brahamdutt
c. Dharambir
d. Eshwar Singh
e. Farooq Ali



A, B, C, D, E, F, and G are seven friends who live in the hostel. 
Some of them occupy different floors of the hostel building but not 
more than two people are on the same floor. There are total of four 
floors (Ground, first, second and third) in the hostel building. They 
are Engineer, Swimmer or Doctor. Among the friends three are 
swimmer, two are Engineer and two are Doctor. Neither G nor B is 
a Swimmer. D and E are best friends and thus stay in the same 
room on the first floor and in same profession. B shares the room 
with the person who is a Swimmer. F is neither a Swimmer nor a 
Doctor. A is a Engineer and does not share his room with anyone 
on the ground floor. Persons liking Swimming does not live on the 
ground floor or top-most floor.
A, B, C, D, E, F और G सात क्तमत्र हैं िो छात्रावास में रहते हैं। उिमें से कुछ 
छात्रावास िवि की अलग-अलग मंक्तिल। पर रहते हैं लेककि एक ही मंक्तिल पर दो 
से अक्तधक लोग िहीं रहत ेहैं। छात्रावास िवि में कुल चार मंक्तिल (िूतल, प्रर्म, 
क्तितीय एवं तृतीय) हैं। वे इंिीक्तियर, तैराक या डॉक्टर हैं। दोस्त। में तीि तैराक, दो 
इंिीक्तियर और दो डॉक्टर हैं। ि तो G और ि ही B तैराक हैं। D और E सबसे अच्छे 
दोस्त हैं और इस प्रकार पहली मंक्तिल पर एक ही कमरे में रहते हैं और एक ही पेशे 
में हैं। B उस व्यक्ति के सार् कमरा साझा करता ह ैिो तैराक ह।ै F ि तो तैराक ह ै
और ि ही डॉक्टर ह।ै A एक इंिीक्तियर ह ैऔर िूतल पर अपिा कमरा ककसी के सार् 
साझा िहीं करता ह।ै तैराकी पसंद करिे वाला व्यक्ति िूतल या सबसे ऊपरी मंक्तिल 
पर िहीं रहता ह।ै



A, B, C, D, E, F, and G are seven friends who live in the 
hostel. Some of them occupy different floors of the 
hostel building but not more than two people are on the 
same floor. There are total of four floors (Ground, first, 
second and third) in the hostel building. They are 
Engineer, Swimmer or Doctor. Among the friends three 
are swimmer, two are Engineer and two are Doctor. 
Neither G nor B is a Swimmer. D and E are best friends 
and thus stay in the same room on the first floor and in 
same profession. B shares the room with the person 
who is a Swimmer. F is neither a Swimmer nor a 
Doctor. A is a Engineer and does not share his room 
with anyone on the ground floor. Persons liking 
Swimming does not live on the ground floor or top-most 
floor.
Who are the three Swimmer? 

a. A, B, C
b. D, E, F
c. C, D,E
d. E, F, G
e. C, A, D



A, B, C, D, E, F, and G are seven friends who live in the 
hostel. Some of them occupy different floors of the 
hostel building but not more than two people are on the 
same floor. There are total of four floors (Ground, first, 
second and third) in the hostel building. They are 
Engineer, Swimmer or Doctor. Among the friends three 
are swimmer, two are Engineer and two are Doctor. 
Neither G nor B is a Swimmer. D and E are best friends 
and thus stay in the same room on the first floor and in 
same profession. B shares the room with the person 
who is a Swimmer. F is neither a Swimmer nor a 
Doctor. A is a Engineer and does not share his room 
with anyone on the ground floor. Persons liking 
Swimming does not live on the ground floor or top-most 
floor.
Who occupy the second floor?

a. B, C
b. C, D
c. B, D
d. D, E
e. A, C



A, B, C, D, E, F, and G are seven friends who live in the 
hostel. Some of them occupy different floors of the 
hostel building but not more than two people are on the 
same floor. There are total of four floors (Ground, first, 
second and third) in the hostel building. They are 
Engineer, Swimmer or Doctor. Among the friends three 
are swimmer, two are Engineer and two are Doctor. 
Neither G nor B is a Swimmer. D and E are best friends 
and thus stay in the same room on the first floor and in 
same profession. B shares the room with the person 
who is a Swimmer. F is neither a Swimmer nor a 
Doctor. A is a Engineer and does not share his room 
with anyone on the ground floor. Persons liking 
Swimming does not live on the ground floor or top-most 
floor.
What is the profession of G?

a. Swimmer
b. Doctor
c. Engineer
d. Either 1) or 2)
e. None of these



A, B, C, D, E, F, and G are seven friends who live in the 
hostel. Some of them occupy different floors of the 
hostel building but not more than two people are on the 
same floor. There are total of four floors (Ground, first, 
second and third) in the hostel building. They are 
Engineer, Swimmer or Doctor. Among the friends three 
are swimmer, two are Engineer and two are Doctor. 
Neither G nor B is a Swimmer. D and E are best friends 
and thus stay in the same room on the first floor and in 
same profession. B shares the room with the person 
who is a Swimmer. F is neither a Swimmer nor a 
Doctor. A is a Engineer and does not share his room 
with anyone on the ground floor. Persons liking 
Swimming does not live on the ground floor or top-most 
floor.
Which two persons are Doctor?

a. G, E
b. B, C
c. C, G
d. B, G
e. F, G



A, B, C, D, E, F, and G are seven friends who live in the 
hostel. Some of them occupy different floors of the 
hostel building but not more than two people are on the 
same floor. There are total of four floors (Ground, first, 
second and third) in the hostel building. They are 
Engineer, Swimmer or Doctor. Among the friends three 
are swimmer, two are Engineer and two are Doctor. 
Neither G nor B is a Swimmer. D and E are best friends 
and thus stay in the same room on the first floor and in 
same profession. B shares the room with the person 
who is a Swimmer. F is neither a Swimmer nor a 
Doctor. A is a Engineer and does not share his room 
with anyone on the ground floor. Persons liking 
Swimming does not live on the ground floor or top-most 
floor.
What is the profession of C?

a. Swimmer
b. Doctor
c. Engineer
d. Either 1) or 2)
e. None of these
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